ME

HEER - SUS304
2 CER - XMT7

C L
r@ 1
=
LS ~TE H t & ~TE C A T
B71-0408 M4 x8 B71-0610 MB <10
B71-0410 M4 x10 B71-0612 MB X 12
B71-0412 M4 x12 B71-0615 M6 x 15
B71-0415 M4 x 15 B71-0620 M6 x 20
B71-0420 M4 x 20 20 K B71-0625 M6 x 25
25 65 12 13

B71-0425 M4 x 25 B71-0630 M6 % 30
B71-0430 M4 x 30 B71-0635 M6 x 35
B71-0435 W4 x 35 + B71-0640 MG x 40
B71-0508 MEX8 B71-0645 M6 x 45
B71-0510 M5 X 10 B71-0650 M6 x 50 + 10 10 +05
B71-0512 M5 X 12 B71-0812 M8x 12
B71-0515 M5 X 15 B71-0815 M8x 15
B71-0520 M5 X 20 2 90 B71-0820 M8 x 20
B71-0525 M5 x 25 B71-0825 M8 x 25
B71-0530 M5 X 30 B71-0830 M8 x 30 32 79 15 15
B71-0535 M5 x 35 B71-0835 M8 x 35

B71-0840 M8 x 40

B71-0845 M8 x 45

B71-0850 M8 x 50

BE x> 2E

2017.1. 11

N3

TRusco -SATJPIIKKEH

ATULR TLRER k

B7 1-0000




